Division par 10° (A)

Trouvez chaque quotient.

9,815+ 10° = 7,1386 =~ 10° =
74 +10° = 8 +10% =
4,63 + 103 = 82+10%=
6,103 - 10° = 2,3298 + 10° =
6,05 + 10° = 9,7268 =+ 10° =
5,366 +~ 103 = 1,1 +103 =
8,02 + 10° = 58127 + 103 =
4,7 +10% = 1,838 + 103 =
3,7255 + 10° = 3,13 + 103 =
8,78 + 10° = 4,4544 + 10° =
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Division par 10° (A) Solutions

Trouvez chaque quotient.

9,815 + 10° = 0,009815

7,4 +10°=0,0074

4,63 +10°=0,00463

6,103 + 10°* = 0,006103

6,05 + 10° = 0,00605

5,366 + 10° = 0,005366

8,02 + 10° =0,00802

4,7 +10% =0,0047

3,7255 + 10° = 0,0037255

8,78 + 10° = 0,00878

7,1386 + 10° =0,0071386

8 +~10°=0,008

8,2 +10°=0,0082

2,3298 = 10° = 0,0023298

9,7268 =+ 10° = 0,0097268

1,1 +10°=0,0011

5,8127 +10° =0,0058127

1,838 + 10° =0,001838

3,13 +10°=0,00313

4,4544 + 10° = 0,0044544
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